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[DEg YUEQ RH F=F]

£33 43kW(10 & HA)/37kW (M5 XA
E3:1,406N-m(10 2 &H=)/981N-m (
XD 3™ES:6,000min”

[100 57 0l&2
Bi2lolol &0l S

o @ UABE FIEGEESZ0 150mm)
@ UAEIE GIS(EHEZ0l 250mm)
& @ SAEA FIE(HSZ0l 350mm)
% @ 90° WBY IS
[:4_‘_'*1 @ BC > OLIH.|/\—| o|dl A o.”[:

(3D Z2IEdI0I&]

BT OtAH2E Z2E AHS0l 2ok
HAsSCZ JIH EEE WE
HIZZE
SHORT-TERM ACCURACY STABILITY
MIDDLE-TERM ACCURACY STABILITY
REFERENCE TIME 2020/10/13 15:40,
LONG-TERM ACCURACY STABILITY 100
A& OAH

The room temperature

A2t OtAH

or the machine temperature is changing rapidly now.
There is a risk of large thermal displacement.

[D1H AHOIE &OH]

Agd
20 3,000 | 4,000 | 5,000 | 6,500 | 8,000 [ 10,000 [ 12,000

(mm)
Ra | 20l
== HE | 2= x30 | x40 [ x50 | x65 | x80 | X100 %120
(mm) | (mm)
2,650 | 2,000 25 O O O O O - -
3,150 | 2,500 30 - O O O O O O
3,650 | 3,000 35 - - O O O O O




[MZ AP 2] [ ]ote SYALY
S MCR-BV
25x40 30x50 30x65 35x80 35%100
X=E 0lsa
o2 M=) 4,200 5,200 6,700 8,200 10,200mm
= Set
Y,;éﬁ'; iro 3,200 3,700 4,200mm
Ol %%t - 5 — T
(mm) 7 = 0 [==a=11
@ M%S’O 800 [1,000]3x1
W= 0lsSg
@z2rae sz | B0 1,200
S5 2Z(mm) 2,650 3,150 3,650
HIOIS o0l A %111’6555%] 0~1,850 0~1,800
==K 2 Hel(mm) S [0~1,750]:%2 [0~1,700]3%2
ROl A 2,000% 2,500% 2,500% 3,000% 3,000%
(mm) 4,000 5,000 6,500 8,000 10,000
HOI2
ESREShUESE
(ko) 22,000 33,000 43,000 47,000 61,000
ESpniR-PSE=y=
(ILiLnf)' 6,000 [10,000]5%2
2 =22 &W) 43/37(10 2/ =) [26/22(30 2/H £)]%2
F=
aE_Hm)Ei 1,406/981(10 &/ %) [735/622(30 £/ )]3%2
HOIH LA 7/24 HIOIIH No.50
=y - _ _ _ _ _
(m/omin) X £:30,Y £:32,Z =:15 X £:20,Y £:32,Z =:15
ol
A0S T _ _ _
(m/min) X =:10,Y =:10, Z =:10
ATC 2R JHS 50 JH [80 JH, 100 JH, 120 JH, 180 JH]
6,420
= ’
JIH =0l(mm) [6.620] %1 6,700 [6,900] 1
J
A:?: = AR HIEHA 7,370% 7,870% 7,870% 8,340% 8,340x%
(Eiﬂa) (mm) 10,730 12,830 16,430 19,430 23,930
JIH &
(ke) 46,000 58,000 67,000 89,000 99,000

¥1:Z= 0132 1,000mm AL Al
=S 10,000min~" AP Al

2. F=3



